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1. Which statement correctly the statement ?

Except for glycine, which is achiral, all the amino

acids present in proteins....


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_emt9NkaX8msg

A. are chiral, but racemic

B. have the L configuration at their a carbon

C. have the R configuration at their a carbon

D. have the S configuration at their a carbon

Answer: B

o Watch Video Solution

2. Assume that a particular amino acid has an
isoelectric point of 6.0. In a solution at pH 1.0, which

of the following species will predominate ?


https://dl.doubtnut.com/l/_emt9NkaX8msg
https://dl.doubtnut.com/l/_8C9dvSnJwcRy

R

+ |
A HiNCHCOyH

R

|
B. HNCHCO-H

R

+ |
C.HsNCHCO,

R

|
D. H,NCHCO,

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8C9dvSnJwcRy

P
1¢3)
NH

The pKa values for the three acidic group P,Q,R are

4.3, 9.7 and 2.2 respectively, Calculate the isoelectric

point of the amino acid?

A.7.00

B. 3.25

C.4.95

D. 5.95


https://dl.doubtnut.com/l/_govpN6UyLCGo

Answer: B

° Watch Video Solution

4. An amino acid may be represented by general

R

|
formula HONCH — COOH. If R = — CH,CzHjy

then it is phenylalanine (Phe) and if R = C' H3 then
it is alanine (Ala). Find the sequence of reagents

from those given below to synthesize Phe-Ala.

CH, CH,
(1) ZNHCJHC’OQH ,(2) H2NC’HCO2C’H2 CeHs
CH,CgH;
(3) ZNH CH CO>H
CH,CH

|
(4) HbN CH CO,CH,CgzHj


https://dl.doubtnut.com/l/_govpN6UyLCGo
https://dl.doubtnut.com/l/_SjcaUAgglJVU

A.1and 2

B.1and 4

C.2and 3

D.3and 4

Answer: B

° Watch Video Solution

5. Iso-electric point of alanine is (pH =6). At which pH,
maximum concentration of zwitter ion of alanine will

be present ?


https://dl.doubtnut.com/l/_SjcaUAgglJVU
https://dl.doubtnut.com/l/_xcEK8dvRUjYF

A.pH > 6

B.pH < 6

C.pH =6

D.pH =7
Answer: C

° Watch Video Solution

0]
||
6.NH, — CH — C — NH — CH, — CO.H
|
CHj3

Identify the amino acid obtained by hydrolysis of the

above compound :


https://dl.doubtnut.com/l/_xcEK8dvRUjYF
https://dl.doubtnut.com/l/_vguPnpD9bDhb

A. Glycine

B. Alanine

C.Both (a) and (b)

D. None of these

Answer: C

° Watch Video Solution

7. At iso-electric point :

A. conc. of cation is equal to conc of anion

B. Net charge is zero.


https://dl.doubtnut.com/l/_vguPnpD9bDhb
https://dl.doubtnut.com/l/_QSPt1xbv77CM

C. Maximum conc. of di-polar ion (Zwitter ion) will

be present

D. All of the above

Answer: D

° Watch Video Solution

8. Which of following amino acid has lowest iso-

electric point ?

A. Glycine

B. Alanine


https://dl.doubtnut.com/l/_QSPt1xbv77CM
https://dl.doubtnut.com/l/_tn8wC14H5j5m

C. Aspartic acid

D. Lysine

Answer: C

° Watch Video Solution

9. Find iso-electric point of given amino acid

CHy ~ CH ~ COH  pK, =22
N Hs
@

A 3.3

B.5.9

C.9.6


https://dl.doubtnut.com/l/_tn8wC14H5j5m
https://dl.doubtnut.com/l/_EDG1buywRWGw

D.11.8

Answer: B

o Watch Video Solution

10. Find iso-electric point of the given amino acid

o

|
H—O—C—CHQ—Cﬂz—C]H—COQH(pKazz)
NH;s
D

(pK - 4) (pKa = 9)

A. 5.5
B.6.5

C.3


https://dl.doubtnut.com/l/_EDG1buywRWGw
https://dl.doubtnut.com/l/_itXx2WtUj6lt

D.5

Answer:

° Watch Video Solution

HgSO4 (1)NH3—|—HCN
N H-C=C-H— (4) > (B),
H5504 (2) H;0®

Product (B) of given reaction is :

A. Glycine

B. Alanine

C.valine

D. Leucine


https://dl.doubtnut.com/l/_itXx2WtUj6lt
https://dl.doubtnut.com/l/_z3AuvvKlF1zX

Answer: B

° Watch Video Solution

12. Which amino acid does not contain chiral centre ?

A. Valine

B. Leucine

C. Glycine

D. Iso-leucine

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_z3AuvvKlF1zX
https://dl.doubtnut.com/l/_AC03CjauqqFt

13. Which of the following is Sanger reagent ?

A. 2, 4 Di-nitro flurobenzene

B. Phenyl isocyanate

C. 2, 4-Di-nitro chlorobenzene

D. 2,4-Di-nitro iodobenzene

Answer: A

° Watch Video Solution

14. A D-carbohydrate is :


https://dl.doubtnut.com/l/_AC03CjauqqFt
https://dl.doubtnut.com/l/_2A3pkghjnMP6
https://dl.doubtnut.com/l/_9WJ3hHN39iZM

A. Always dextrorotatory

B. Always laevorotatory

C.Always the minor of the corresponding L-

carbohydrate

D. None of these

Answer: D

° Watch Video Solution

15. Which L-sugar on oxidation gives an optically

active dibasic acid (2 COOH groups) ?


https://dl.doubtnut.com/l/_9WJ3hHN39iZM
https://dl.doubtnut.com/l/_4hx8iVUO5hwo

CHO
H——F—o0n
H——O0H

. CH,OH

CHO
HO H
@ n ol
HO H

CH,0H

Answer: A

Y.


https://dl.doubtnut.com/l/_4hx8iVUO5hwo

| @ VWatch Vidaeo Solution ]

CH = N — NH — Ph

C = N —NH — Ph

HO H
H —4+——OH
H —f——OH

CH,OH

16. , The

given osazone can be obtained by :

A. D-glucose

B. D-mannose

C. D-ldose

D. Both (a) & (b)


https://dl.doubtnut.com/l/_4hx8iVUO5hwo
https://dl.doubtnut.com/l/_2uHFmUNLqQby

Answer: D

° Watch Video Solution

17. Which of the following pair gives same phenyl

osazone ?

A. D-Glucose and D-Allose

B. D-Glucose and D-Alfrose

C. D-Glucose and D-Mannose

D. D-Glucose and D-Talose

Answer: C

| o ]


https://dl.doubtnut.com/l/_2uHFmUNLqQby
https://dl.doubtnut.com/l/_vx0Vm24ePvPb

[ & Watch Video Solution ]

18. Which of the following is the Fischer projection of
L threonine (also known as (2s, 3R)- 2-amino-3-

hydroxybutanoic acid) ?

CO,H

H —+-NH;
(1) H—4+-OH

CHj;

CO,H

H,N H
(b) H OH

CO,H

(¢) HO 4+H

CH,4


https://dl.doubtnut.com/l/_vx0Vm24ePvPb
https://dl.doubtnut.com/l/_fUVwuKTmtOO1

CO,H

H,N H
(d nHo H

CHs,

Answer: B

o Watch Video Solution

19. Among the three compounds shown below, two
yield the same product on reaction with warm

HNOs. The exception is :

HO

no —4—1
(a) 4 —4—OH
H ——{——()H



https://dl.doubtnut.com/l/_fUVwuKTmtOO1
https://dl.doubtnut.com/l/_WFdWHhF4fbpO

CHO

1O —+—H
I —+— OH
B. CHy
CHO
HO H
(¢) HO ——H
H ——OH
C CH,OH

D. None of these

Answer: B

° Watch Video Solution

20. The optical rotation of the a-form of a pyranose
is +150.7°, that of the B-form is +52.8°. In solution

an equilibrium mixture of these anomers has an


https://dl.doubtnut.com/l/_WFdWHhF4fbpO
https://dl.doubtnut.com/l/_5RlpVbDjvQKL

optical rotation of +80.2°. The precentage of the a-

form in equilibrium mixture is :

A. 28 %

B.32 %

C.68 %

D.72 %

Answer: A

° Watch Video Solution

21. Which of the following represents the anomer of

the compound shown ?


https://dl.doubtnut.com/l/_5RlpVbDjvQKL
https://dl.doubtnut.com/l/_FoYQZ8o4LW8d

HOCH2 O

H
OH H
OH

(a)
H
A H OH

HOCH, o_ OH
H

v

® H H
B HO OH
H o) OH
OH HO
HOCH) H

(¢)
C. H H

D. None of these

Answer: B



https://dl.doubtnut.com/l/_FoYQZ8o4LW8d

[ ° Watch Video Solution

22. Which set of terms correctly identifies the

carbohydrate shown ?

H H
OH
HO OH

(1) Pentose , (2) Pentulose, (3) Hexulose , (4) Hexose

(5) Aldose, (6) Ketose, (7) Pyranose, (8) Furanose

A.2,6,8

B. 2,6,7


https://dl.doubtnut.com/l/_FoYQZ8o4LW8d
https://dl.doubtnut.com/l/_IWydrDMjXMti

C.1,5,8

D. A set of terms other than these

Answer: A

° Watch Video Solution

23. For the complex conversion of D-glucose into the
corresponding osazone, the minimum number of

equivalents of phenyl hydrazine required is :

A. two

B. three


https://dl.doubtnut.com/l/_IWydrDMjXMti
https://dl.doubtnut.com/l/_4H0buoTCwn8P

C. four

D. five

Answer: B

° Watch Video Solution

24. Which one of the following compounds will form

an osazone derivative ?

A.CH3;CH,COCH,OH

B. CH;COCH,CH,OH

C. CH;CH,CHOHCH,OH


https://dl.doubtnut.com/l/_4H0buoTCwn8P
https://dl.doubtnut.com/l/_IelHPbvr7ppk

D.CH3CH,COCH>;OCHj5

Answer: A

o Watch Video Solution

25. Which of the following structure is L-arabinose ?

CHO

HO ——H

H —— OH
H OH

CH,OH

CHO
HO ——H
(b) H —+— OH
HO —1—H
B. CH,0H



https://dl.doubtnut.com/l/_IelHPbvr7ppk
https://dl.doubtnut.com/l/_tOwhci8uWayL

CHO

H ——OH
(¢) HO H
HO —‘-— H
CH.OH
C.
CHo
HO H
HO "
d H On
H OH
D. CH,OH
Answer: C

° Watch Video Solution

26. Which one of the following concering the

equilibrium shown is true ?

HocH, | o HocH
HO o — HO
_—
H T on H
HO OH

H '
S S
O
T Sonl
HO



https://dl.doubtnut.com/l/_tOwhci8uWayL
https://dl.doubtnut.com/l/_2c3iWlBDGmyj

A. The two structures are enantiomers of each

other. They have equal but opposite optical

rotations and recemic slowly at room

temperature

B. The two structures are enantiomers of each

other. They recemize too rapidly at room

temperature for their optical rotations to be

measured.

C. The two structures are diastereomers of each

other. Their interconversion is called

mutarotation


https://dl.doubtnut.com/l/_2c3iWlBDGmyj

D. The two structures are diastereomers of each

other. Their interconversion does not require

breaking and making bonds, only a change in

conformation

Answer: C

° Watch Video Solution

27. The configuration of the chirality centres in D-

threose (shown) are:


https://dl.doubtnut.com/l/_2c3iWlBDGmyj
https://dl.doubtnut.com/l/_hKnoor4IqVLN

A. 2R, 3R

B. 2R, 35S

C.2S,3R

D. 25, 3S

Answer: C



https://dl.doubtnut.com/l/_hKnoor4IqVLN

| W Watch Video Solution

28. Rapid interconversion of a D-glucose and B-D-

glucose in solution is known as :

A. racemization

B. asymmetric induction

C. fluxional isomerization

D. mutarotation

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_hKnoor4IqVLN
https://dl.doubtnut.com/l/_AW1n7WImFYor
https://dl.doubtnut.com/l/_3ZFLjIn5yYYc

29. Identify the correct set of stereochemical
relationships amongest the following

monosaccharides I-IV.

OH OH OH o1l
Q OH Q O OMe OH O OM
OH OH OH Oon
OH OH OH OH
(€]

1
an (1D (V)

A.land Il are anomers, lll and IV are epimers
B. I and Il are epimers, Il and IV are anomers
C.land Il epimers, lll and IV are anomers

D. 1 and lll are anomers, | and Il are epimers

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3ZFLjIn5yYYc

30. What is the structure of L-glucose ?

CHO
HO ——+—H
H —+—O0OH
(a)
HO ———H
HO ——H
A CH,OH
CHO
H ——OH
HO ——H
®) H—}—OH
H——O0H
B CH, - OH
CHO
H Ol
© 1O H
H——on
HO —
[-H
C. CH, - Ol

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nUNu0tk0M7iy

31. What is the structure of L-glyceraldehyde ?

H-C=0
(a) HO - CH, OH
A. H
H
(b) HO ‘{'— CH,0OH
B CH=0
CH, - OH
() HO H
C H-C=0

D. Both (a) and (b)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nUNu0tk0M7iy
https://dl.doubtnut.com/l/_eghTbARVPPQM
https://dl.doubtnut.com/l/_lbJ8hKuxtjXR

Hﬁ-—OH
C - OH

HO H
H OH
H ' OH

CH,OH

32. , the

given is enol form of :
A. D-glucose
B. D-mannose

C. D-fructose


https://dl.doubtnut.com/l/_lbJ8hKuxtjXR

D. All of these

Answer: D

° Watch Video Solution

HO-
33.D-glucose <—= A + B,Aand B are:

A. D-mannose & D-mannitol
B. D-mannose & D-Fructose
C. D-Allose & D-Altrose

D. D-Glucose and D-ldose

Answer: B


https://dl.doubtnut.com/l/_lbJ8hKuxtjXR
https://dl.doubtnut.com/l/_qaMcG3wSC2aS

o Watch Video Solution

34. Stereoisomers of aldoheptose is (a) and

stereoisomers of ketoheptose is (b). Ratio of a/b is :

O
N e S ST

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qaMcG3wSC2aS
https://dl.doubtnut.com/l/_z9Wb4x94Sqb5
https://dl.doubtnut.com/l/_tzLYldMmUAM2

NHO3 .
35. D-Glucose — (A), Product (A) is :

A. D-Gluconic acid
B. D-Glucitol
C. D-Fructose

D. D-Glucaric acid

Answer: D

° Watch Video Solution

36. D-glucose & D-fructose can be differentiated by :


https://dl.doubtnut.com/l/_tzLYldMmUAM2
https://dl.doubtnut.com/l/_iXHI2F0rlp0U

A. Fehling solution
B. Tollens reagent
C. Benedict test

D. B’l"g /HgO

Answer: D

° Watch Video Solution

37. D-Glucose exist in x different forms. The value of x

(stereoisomer) is :

A2


https://dl.doubtnut.com/l/_iXHI2F0rlp0U
https://dl.doubtnut.com/l/_psgMFbUlB7jO

B.3

C.4

D.5

Answer: B

° Watch Video Solution

H HO-
38. D-Mannose <= D-Glucose <= (A), Product

(A) of above reaction is

A. D-glucose

B. D-fructose


https://dl.doubtnut.com/l/_psgMFbUlB7jO
https://dl.doubtnut.com/l/_7HFg0Cn2Dub8

C. D-talose

D. D-idose

Answer: B

° Watch Video Solution

39. Which of the molecules below will react with
Ag™?

. HO o
Ho CHOH o Ho T n .
HO .
o S :{,A,OCH3 (ii) NHCH-CH.-
HO -
OH
OH
o o OH
(un) HO o]
HO
OH HO OH

1o OH OH
Qo 0o
(iv) % o OH
HO OH OH
CH, | o

HO OCH,

HO
CH0H | 0“0 OH
. HOSA//L&/ OCH,CH, i) 0
HO OH Oon

HO on


https://dl.doubtnut.com/l/_7HFg0Cn2Dub8
https://dl.doubtnut.com/l/_IQzXtMwcmPRX

A. (i), (iii) and (v)

B. (ii) and (iv)

C. (iv) and (vi)

D. (i), (ii), (iii) and (vi)

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_IQzXtMwcmPRX

)
no
(

HO
A, HO 0
HO OH HO  on

HO

OH

HO o

B. HO
HO

HO
HO

OH
C. HO%

HO o
NN

40.
Which of the compounds (A-D) depicted above is

NOT a hemiacetal linkage ?

H H
HO 0
© OH
OH O PH
OH
0
®H
on OH |

HO


https://dl.doubtnut.com/l/_70SLVfc0pidX

A. Compound A

B. Compound B

C. Compound C

D. None of the above (they are all hemiacetals)

Answer: D

° Watch Video Solution

41. Which of the following Fischer projection formula

is same as D-Glyceraldehyde ?

i
(a) OH CHO
A. H


https://dl.doubtnut.com/l/_70SLVfc0pidX
https://dl.doubtnut.com/l/_T8FI6Jge6Osb

HZOH
(b) H-&OH
B. O

CHO
(c) OH—}~CH,OH
C. H

() H—-CH,0H
D. HO

Answer: C

° Watch Video Solution

42. What is the structure of the monomer from

which the following polymer was made ?


https://dl.doubtnut.com/l/_T8FI6Jge6Osb
https://dl.doubtnut.com/l/_Kc21kqYAXzr7

h  Ph Ph  ph

(d) pPh

\/\/Ph

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Kc21kqYAXzr7

43. Choose the answer that has correctly identified

the number of acetals and hemiacetals in isomaltose.

H

isomaltose

Acetal Hemiacetal

0 0
Acetal  Hemiacetal
1 0
Acetal  Hemiacetal
0 1
Acetal  Hemiacetal
1 1

Answer: D

1


https://dl.doubtnut.com/l/_gEC0M7wI0o6Q

I o Watch Video Solution

44, Predict the product of the following reaction:

HO
O OH
HO OH
HO

HO,

(a) O OMe

A. HO
HO
o OH
® HOE$W‘e
B. HO

HO.
( O OH
(9] HO OH
C. M

HO

@ o oH
" MeO OH

Answer: A


https://dl.doubtnut.com/l/_gEC0M7wI0o6Q
https://dl.doubtnut.com/l/_yYBStVRTnNqv

° Watch Video Solution

45. Which reagents can be used to distinguish
glucose and fructose ?

(I) Bromine water , (ll) Tollen's reagent , (Ill) Schiff's

reagent

A. (1), (1) and (III)

B. (11) and (111

C. only (1)

D. Only (111)

Answer: C

f 1


https://dl.doubtnut.com/l/_yYBStVRTnNqv
https://dl.doubtnut.com/l/_ifIZWiyxyfuU

| ° Watch Video Solution

46. Choose the peptide that

abbreviation Phe-Val-Ala.

(8] (8]

I n I n Il
HyN-—CHC—N—CHC—N—CHC—OH

an o Chody G
CH,
A.
o o o

|
H,N—?‘IO—N—C‘HC—N—C\HC—OH

CH, c_;.|-xc1—|3 CH,
CH,

o
I w
":N—?HC—N—CIHC—N—?«C—OH
CHy CHy ('?HCHJ

CH,
C.
o
e Nwu
HyN—CHC—N—CHC—N—CHC—OH
CHy CH, CHCH,
CHg

Answer: A

matches

the

[ -


https://dl.doubtnut.com/l/_ifIZWiyxyfuU
https://dl.doubtnut.com/l/_Trxf38TEKUjg

I QJ Watch Video Solution

47. Which of the following carbohydrate (s) would

not undergo mutarotation in aqueous solution ?

T IO O, (:H.,_()CH@0 H,0H )
/J () ol = 0, H 0 y
u,/.’ Ol o (1) Of (V) H
i 014 OH Of 0O

O OH OH

A. 1l only
B. I, Il and IV only (c)
C.lland IV only

D.land lll only

Answer: C

I ° Watch Video Solution


https://dl.doubtnut.com/l/_Trxf38TEKUjg
https://dl.doubtnut.com/l/_nRL1gkGyzXSz

48. The number of peptide bonds in the compound.

Al

B.2

C.3

D.4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nRL1gkGyzXSz
https://dl.doubtnut.com/l/_2NF4Gdut479L

49. Serine (HOCH,CH(NH,)COOH) is an
essential amino acid. The correct Fisher projection of
serine is

NH,

(@) H CH,0H
A. OOH

H

(b) Honzc~i—~Nu,
B. OOH

Answer: D

& |


https://dl.doubtnut.com/l/_CXafhlRQ9eFV

| ¥ vvatcn Viaeo >olution

50. Match the Column (1) and Column (II). (Matrix)

| ° Wiat~Ah \tAar CALiikiAaNn


https://dl.doubtnut.com/l/_CXafhlRQ9eFV
https://dl.doubtnut.com/l/_wsj0ngjCe9Kc

yyvoiea il Vi IGAGINIIE J

51.

One cyclic acetal form of D-galactose is shown above.

Which atom is the anomeric carbon ?

A. Atom A

B. Atom B

C.Atom C


https://dl.doubtnut.com/l/_wsj0ngjCe9Kc
https://dl.doubtnut.com/l/_J7piDM9eV0m9

D. Atom F

Answer: D

° Watch Video Solution

52.

One cyclic acetal form of D-galactose is shown above.

A. a-D- Galactofuranose


https://dl.doubtnut.com/l/_J7piDM9eV0m9
https://dl.doubtnut.com/l/_M3C20vc3L7Ov

B. 3-D-Galactofuranose

C. a-D-Galactopyranose

D. 3-D-Galactopyranose

Answer: C

° Watch Video Solution

53. How many acidic group is present in given amino
acid ?

(&)
NH, — CH — CH, — CO,H
|
Cco;

o Watch Video Solution



https://dl.doubtnut.com/l/_M3C20vc3L7Ov
https://dl.doubtnut.com/l/_AjmgTIB7ar5P

Level 1Q 31To Q 50

1. The following structure represents a subunit of a
hydrocarbon polymer that may be prepared by a
radical polymerization method. Identify the
monomer that been polymerized to make this

polymer chain.



https://dl.doubtnut.com/l/_rNGS5cfk0BnG

C (©) NN

b, A

Answer: C

° View Text Solution

1. How many compound which is given below is
isomer of D-Glucose ?
D-Mannose, D-Fructose, D-Gulose, D-ldose, D-

Galactose, D-Arabinose, D-Ribose.

[ &


https://dl.doubtnut.com/l/_rNGS5cfk0BnG
https://dl.doubtnut.com/l/_Wr2ll2l5fRBK

| W View Text Solution



https://dl.doubtnut.com/l/_Wr2ll2l5fRBK

